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< 425,000
Al 3,857,119
ot =Xl2el 2,314,240 5,361,935 A3,047,69%
201 Ler23 | 7,000 7,000 0
01 At22t2lt] 7,000 7,000 0
OdteFA2CIANY FHS fet 22 7 2,000
Odtd +=FHAHE HHISIHEH/ZH) 5,000
206 MH=H| 9,320 9,006 315
01 M=4l 9,320 9,005 315
OJIdH &bl 223 9,320
IS HEH SFU(EA/FA)
1,7203 50070 & 6.020
SOOI 2Rl 1A(EA/FA)
550,000 62 3,300
401 AIZHIX S0HH 2,297,920 5,345,930 /3,048,010
01 AlZH| 2,286,400 5,334,950 A3,048,550
Ootd FXIZ2IAF (310004, 1=384kn = 17.5km
600,000,000 *99.28% 595,680
OttE StSEE A (310002, L=384kn S 20km
500,000,000 *99.28% 496,400
OBt &= o 22 AR (31004, L=3684%n
= 40km 500,000,000 *99. 28% 496,400
O23d RAZ2AE 100,000
OdZAGH RAI2elArE 360,000
OFgAold RA2e|AE 74,000
OADIE Es2cAIAE X2 2 40,000
ORNZACIANY HAIZHBI(SEH, SEH,
St=d) 64,000,000& 64,000
O o &t 69,920
=X 40,000
-YEH St R 2| ALY 40,000
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SA CHET
S ot HH
2l otE 2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=gs 4,920
-2f S = HX F4| 4,920
Lgs 25,000
- MY ? 2AAY A2 T
RSN 25,000
03 Al 20HHI 11,520 10,980 540
OdtE R Xl 2e| At 600,000,000&+0.72% 4,320
Odtdot==& At 500,000,000&*0.72% 3,600
Ot =S =S HHAIE
500,000, 000& *0.72% 3,600
St |XZel(EX) 210,000 420,000 A210,000
= 105,000
Al 105,000
401 Al HIZL 2018 210,000 420,000 A210,000
= 105,000
Al 105,000
01 Al&H| 210,000 420,000 /210,000
OAGHE ADIE H=2t2 A A
210,000,000 210,000
[ 105,000
Al 105,000
gz A2l 181,879 180,560 1,319
101 e124d| 45,892 44,573 1,319
M ORNZZ2NSE S 45,892 44,573 1,319
OStE MY |2 AlLHHE(2E)
208,600 x22|x15H x4 25,032
OZAd dHsd M= 215
208,6002 x22|x10Hx2! 8,344
OZXd desd +=22| 2FY
208,600 x22]x 10 3! 12,516
201 el 30,387 30,387
2 352484l 30,387 30,387
OSLE(DIEE) dojetEze| a2
171, 7003 x12J0 200 2 4,121
Osg20IEE) &I 19,966,000 19,966
ORd E=zdd & XBANE &JIks
105,000 * 120 30 2 3,780
OZXd dHsd 28 &8JIes
70,000 *12IH 2 *30H 2 2,520
206 M=l 1,600 1,600
01 MZH| 1,600 1,600
OZXd dHzd +=3acl 225 7Y
,000& x23] 1,600
401 AIEHIZ SR OHYI 104,000 104,000
01 Al&HI 104,000 104,000
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SA CHET
e Tl
=HSE (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZdH o8l & A+-S2t ZESAF AL
SHAHSTNB
104,000,000 14 104,000
IId MRl (EX) 850,000 1,900,000 1,050,000
= 425,000
Al 425,000
401 Al HIZ S 0HYI 850,000 1,900,000 A1,050,000
== 425,000
Al 425,000
01 Al&HI 850,000 1,900,000 A1,050,000
Ootd Mg |2+ 850,000
< 425,000
Al 425,000
2ot RAUES A (EX) 853,200 742,000 111,200
= 853,200
201 =3 30,000 30,000 0
= 30,000
02 S3=gHl 30,000 30,000 0
O=JIotd FAE+ =8 &) € S8 S 30,000
= 30,000
206 M=l 10,000 7,000 3,000
= 10,000
01 MHZH| 10,000 7,000 3,000
O=Jtotd FAE+ HM=EE fgt 228 7
& 10,000
= 10,000
401 A2 HIRL 201 813,200 705,000 108,200
= 813,200
01 A28l 813,200 705,000 108,200
O=Jtotd |FXE=+ At 813,200
= 813,200
o= FA 831,000 831,000
401 AIEHIX R0 831,000 831,000
01 A28l 831,000 831,000
Odt& =i ST A (56902, L=2.6km) 831,000
O XHoH ol & 2,336,143 12,774,664 10,438,521
== 1,120,000
Al 1,216,143
25t FHI(HEAY) 736,143 2,148,998 1,412,855
401 AlEHIZL SO 736,143 2,148,998 1,412,855
01 Al&HI 736,143 2,141,263 1,405,120
O0|S4otd FHIAE 266,483,000& 266,488
OgsAotd A 272,385,000& 272,385
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A CHETHE I

"M
ch?l: oF & XHoH Oll'2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
IEEEEEETE 197,270,008 197,270
NLSIH LA (HE24H) 25 (He) (FSAL) 1,600,000 3,242,666 A1,642,666
= 1,120,000
Al 480,000
401 AIEHIL S CH] 1,600,000 3,242,666 A1,642,666
= 1,120,000
Al 480,000
01 Al&H 1,504,240 3,230,993 A1,63,753
O NYsHE I
1,600,000,000+9.64% 1,504,240
= 1,120,000
Al 474,240
03 Al = CHb| 5,760 11,673 £5,913
OB NYsHE ZHIZA
1,600,000,000+0.36% 5,760
X221 12t el 148,200 165,900 A17,700
2 0H W 3 04 2 148,200 165,900 A17,700
SCHAHH Ol Al 148,200 165,900 A17,700
201 Lere ] 115,200 42,900 72,300
01 Al 22lb| 85,200 42,900 42,300
OHLADSK 10,200
ONINPASE Y B2SE 72 2,000
Oorxpe @ EABRIYS 2 30,000
OXNYBAST 1,500,00021%23] 3,000
Osigs I} 20,000,000+23] 40,000
2 222 30,000 0 30,000
OFUIMaH A A TR It 30,000
202 04t 3,000 3,000
ENTOT] 3,000 3,000
OEUMaHoE 2z 3,000
401 Al HI L2 H) 30,000 50,000 20,000
01 Al&H 30,000 50,000 20,000
OAZHEY Y 24
10,000, 0002 *30H 4 30,000
THHorE 22| S22 1,498,851 1,751,200 £252,349
= 39,000
Al 1,450,851
e 1,498,851 1,751,200 £252,349
= 39,000
Al 1,450,851
SERHUE 2 1,056,000 1,179,700 A123,700
201 Lere ] 426,000 426,000 0
01 Al 22lb| 124,000 4,000 120,000




S ORI
I JHotd e 58 28t
el SE2A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OCCTVEet 2t NIt 23| 4,000
OSE2NHE RAl2e 120,000
02 S3=gHl 302,000 422,000 120,000
OCClV &I 2= 35,000
OCClV HE2HR= 267,000,000 267,000
202 04l 1,200 1,200
01 2LHoIH 1,200 1,200
OSE2H CCTV £X & R+ 1,200
307 el2to| & 577,800 567,000 10,800
05 2I2tRIE =S 577,800 567,000 10,800
OSE2NHE 2HeA U 577,800
401 AlZHIZ SO 51,000 118,000 267,000
01 AlZ28| 50,541 116,852 266,311
Oogdds IV &l €X1 & wH
1,500,000 *34CH*99. 1% 50,541
03 Al S CHYI 459 1,148 2689
OY™EE IV &l X1 & WXl
1,500, 0002 *34CH+0. S 459
SYHE OV AXl ALY (EX) 195,000 193,000 2,000
= 39,000
Al 156,000
401 AlZHIZ SO 195,000 193,000 2,000
== 39,000
Al 156,000
01 Al&HI 195,000 193,000 2,000
OLHECCTVEXI X Z AL
195,000,000 195,000
= 39,000
Al 156,000
=g E v £X 247,851 368,500 120,649
201 fer23y| 15,000 15,000 0
01 AtR2t2lHI 10,000 0 10,000
OlI=¢8E 0TV FAl2el 10,000
02 s3=gHl 5,000 15,000 10,000
OtrsggE v &JIes 5,000
401 Al HIZL S 0HYI 232,851 353,500 120,649
01 Al&H| 231,282 351,124 A119,842
Olt=gdHE IV €X1 At
6,600,000 *337H 2+99.28% 216,232
O=2=F 0ol & 15,050
- SES 12,050
-S&4S 0228 0V £X 12,050
AHLHE 3,000
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SA CHET
I JHotd e 58 28t
chel: SErRH (Shol: &2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-dEitsa2 gHE Jiiich €X 3,000
03 Al 2 0HYI 1,569 2,376 ABO7
OOr=¢8E 0TV Xl AL
6,600,000 *337H 2=+0. 72% 1,569
HY2AHHI(HE D) 50,760 48,960 1,800
Jl23HI (™ T L) 50,760 48,960 1,800
Jl2ZHI(tM T L) 50,760 48,960 1,800
201 er23| 21,900 21,900 0
01 At2teltl 16,500 16,500 0
O=2| 5,500
OCHE T At 22| 11,000
02 s3=gHl 5,400 5,400 0
OoMTHHL S52= L MAl
450,000& x 1290 2 5,400
202 04l 24,060 22,860 1,200
01 2LHoIH 24,060 22,860 1,200
OHEI Y HRFA 24,060
203 HR=4AH] 4,800 4,200 600
MU A2 LRSI 4,800 4,200 600
ORANEgg =AY 4,800
HRES(QHE L) 682,047 633,590 48,457
WA= 682,047 633,590 48,457
WEHeHXIE 682,047 633,590 48,457
(VAP TSE= 682,047 633,590 48,457
01 JIsdES 682,047 633,590 48,457
OMtt2edl= 682,047
HdENES 490,548
- AMBIREES 191,499




